BRUNDLE

3metre

gr, | o gl " %
6 metre e, 1| La
lengths: o al,

U %, el B

. 8metre " T "
or - A A

6 metre. af .

lengths +

CHANNEL SUPPORT

BRUNSTRUT SYSTEM

BRUNSTRUT CHANNEL SUPPORT SYSTEM TO Bs 6946

6 metre
lengths

3metre
wr T

. 3metre
e

1 6 metre

f] o lengths

R A I
Ej 6 metre . - rl
s In I v.L 3 3| s

H

PLASTIC END CAPS
FOR CHANNEL

PVC 21/PVC 41 - (Black or White) |

CLOSURE STRIP

CAP/PVC (Black or White)
CAP/GALVANISED

__ n ;_,I-;:

[0 ALSO AVAILABLE IN LIGHT GAUGE

Channel Washers

4 Hole Plate

P

90° Bracket

90° Bracket

90° Bracket

90° Angled
‘T’ Bracket

90° Angled
Left ‘T’ Bracket

90° Angled
Right ‘T’ Bracket

‘Z’ Bracket
Top Hat

Top Hat

Double Width
Top Hat

Angled Bracket
Other angles to order

Angled Bracket
Other angles to order

Internal Connector

Internal Connector

Beam Clamp Tapped M10

Beam Clamp Tapped M10

7 MI0- 10 mm
M2 12 mm

For use with all channels
and concrete inserts.
For fixing use 20mm or 25mm
long hexagon head set screws.

Part No | Thread @ | Pack Qty Part No | Thread @ | Pack Qty Part No | Thread @ | Pack Qty
CNé6L Mé 100 CN6S M6 100 CN6P Mé 100
CNSL M8 100 CN8s M8 100 CN8P M8 100
CN10L | MI10 100 CN10S | MI10 100 CN10P | M10 100
CN12L | MmI12 100 CN12s | M12 100 CN12P | M12 100

NB- For Stainless Steel add 'S’ to Part No.

FC08 = 9mm
FC10 = 11mm
FC12 = 13mm

PC10

5 Hole Plate

ARM LENGTHS - 150/300/450/600/750/900mm

BRUNSTRUT SUPPORT SYSTEM BRACKETRY HOT DIP GALVANISED TO BS 729

Cross
Flat Plate

Bracket

Single ‘Z’
Bracket

Half Channel

Top Hat

Top Hat

External Connector

O
@
<
.! g "-"
12 :

External Connector

Base Plate Single-Fix

Double D? i

Channel ‘T’
Bracket

Beam Clamp ‘U’ Bolt

‘2’ Beam Clamp Tapped M10

Qty
Per Pack

Part

200
200
200
200
200
200
200
200
200
200
200
200
200
200
100
100
100
100
100
100
100
100
100
100
100

NB

All Cablok
screws are
Grode 8.8
Hardened

Part Size
No. mm
HS06X16 M6 x 16
HS06X20 Mé x 20
HS506X25 M6 x 25
HS06X30 M6 % 30
HS08X20 M8 x 20
HS508X25 MB x 25
HS08X30 M8 x 30
HS508X35 M8 x 35
HS08X40 M8 x 40
HS08X50 M8 x 50
HS10X16 MI10x 16
HS10X20 M10x20
HS510X25 MI10x 25
HS10X30 MI10x 30
HS10X35 MI10x35
HS10X40 M10x 40
HS10X45 M10 x 45
HS10X50 MI10x 50
HS10X60 MI10x 60
HS12X20 MI12x20
H512X25 M12x25
HS12X30 MI12x30
HS12X35 MI12x35
HS512X40 MI12 x40
H512X50 M12x 50
FW06 Mé
Fwo8 M8
FW10 M10
Fwi2 M12

200
200
200
100

No.

Size

Qty
mm Per Bundle

HNOD6 Mé 200 TRO&X3 M6 x 3m 50 Ako stocked
HNO8 M8 200 TRO8X3 M8 x 3m 25 182
HN10 M10 200 TR10X3 MI10 x 3m 20 mete engths
HN12 M12 100 TR12X3 MI12 x3m 20
Part Size Qty \ ¥ Part Size Qty
No. iy Per Pack No. mm Per Pack
PWO06 Mé 100 RCO& Mé 100
PWo08 M8 100 RCOB Ma 100
PW10 M10 100 RC10 M10 100
PW12 M12 140 RC12 M12 50
Part Size Qty Part Size Qty (/
No. mm Per Pack No. mm Per Pack
SWos6 Mb& 200 EBO& Mé x 80 100
Swos M8 200 EBO8 M8 x 80 100
SW10 M10 200 EB10 M10 x B0 100 E
SwWi12 M2 100 EB12 M12 x 80 100
=
Part Size Qty Part Size Qty
No. mm Per Pack No. mm Per Pack
RBO6X12 Mé x 12 200 CP10X40 M10 100 =
RBO6X16 Mé x 16 200
RBO6X20 M6 x 20 200
RBO6X25 M6 x 25 200
RBO6X30 Mé x 30 200
RBO6X40 M6 x 40 200
RBO6X50 M6 x 50 200



